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QUESTION 1

You are implementing test automation for a project that has a business critical application A test execution tool is being
used to run automated regression tests. The results from the test execution tool are very important and need to be
100% 

accurate. 

You want to merge the test automation results with the test management system that also records the manual test
results so that managers can make informed decisions about the progress quickly. 

Which layer of the gTAA will be used to ensure the proper reporting occurs and the interfaces to the test management
system are handled? 

A. The reporting layer 

B. The logging layer 

C. The execution layer 

D. The adaptation layer 

Correct Answer: A 

 

QUESTION 2

Which of the following BEST describes why it is important to separate test definition from test execution in a TAA? 

A. It allows developing steps of the test process without being closely tied to the SUT interface. 

B. It allow choosing different paradigms (e.g event-driven) for the interaction TAS and SUT 

C. It allows specify test cases without being closely tied to the tool to run them against the SUT 

D. It allows testers to find more defects on the SUT 

Correct Answer: C 

 

QUESTION 3

Which of the following is NOT an advantage of test automation? 

A. The ability to perform tests which would be difficult or impossible to execute manually 

B. The ability to run more tests in less time and therefore to make it possible to run them more often 

C. The ability to find more defects with the same tests, compared to executing the same test manually 

D. The ability to enable a better use of skilled testers by freeing them from repetitive and boring tasks 

Correct Answer: C 
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QUESTION 4

A major component of your organisation\\'s Test Automaton Solution (TAS) is a popular open-source third-party capture-
replay tool for automated functional testing. 

Which two of the following must the Test Automation Engineer (TAE) ensure happens for this TAS? 

a) The third party tool is placed under configuration management control. 

b) The annual support and maintenance costs are agreed with the tool\\'s vendor. 

c) It is Important to obtain information about updates and new versions of the tool so that the third party tool is kept up to
date. 

d) Ensure that the TAS test scripts are integrated into the tool\\'s framework. 

e) Ensure that no changes are made to the tool, because modifications are not allowed for third party products. 

A. a and b 

B. c and d 

C. a and c 

D. d and e 

Correct Answer: A 

 

 

QUESTION 5

Designing the System Under Test (SUT) for testability is important for a good test automation approach and can also
benefit manual test execution. Which of the following is NOT a consideration when designing for testability? 

A. Observability: The SUT needs to provide interface that give insight into the system. 

B. Re-useability: The code written for the SUT must be re-useable for other similar system. 

C. Clearly defined architecture: The SUT Architecture needs to provide clear and understandable interfaces giving
control and visibility on all test levels. 

D. Control: the SUT needs to provide interfaces that can be used to perform actions on SUT. 

Correct Answer: B 
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